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ST 2 41 37 781 12.9| 65.1 41 L | ¥k /D 45 45 90! 13.3| 76.7
G RE R 38 44 821 16.3| 65.7 42 L | =il IEfl 42 49 91f 14.0{ T771.0
SR =58 41 44 85| 18.7| 66.3 43 i | | =R 41 51 921 15.0| 77.0
N R S2— 46 45 91| 24.2| 66.8 44 | B faA 50 48 98¢ 20.9| 77.1
AL ZE AR T 16 51 971 29.8| 67.2 A5 () b FH 46 49 95! 17.2| 77.8
b {0} THE 2k — 45 39 84} 15.9| 68.1 46 {7 | PFF 15 43 48 91 13.2| 77.8
[ L&f HHE #E 44 39 83| 14.3| 68.7 47 {7 | AE =B 42 42 84 6.1 77.9
i bT BE 44 42 86| 16.5| 69.5 48 {if | )il —k 44 54 98 20.0| 78.0
0 fir| EB)I B 16 42 881 18.1| 69.9 49 (i | RH EE 49 41 90| 11.8] 78.2
10_{ir| /iR BE 43 42 85( 15.1| 69.9 250 {if | [y il 47 49 96| 17.8| 78.2
11 fi7 | fex &k sk 44 39 83l 12.6] 70.4 51 {i | /MR 50 44 94| 15.4] 78.6
12 {i7 | P& E T 42 46 88| 17.4| 70.6 52 {if | T FE 49 49 98, 19.3] 78.7
13 fir | fl &l— 46 47 93] 22.3| 70.7 53 fir | @it ——= 45 44 89| 10.1] 78.9
14 {if | B4k 39 43 821 10.9| 711 54 i | #8fE FE 50 52 1021 22.6] 79.4
(5 fid )1l fnE ¥ 53 49 102] 30.8 71.2 &5 1p | ik 15 50 45 95! 15.5| 79.5
16 fir | RJI = 44 46 90| 18.8] 71.2 56 fr | KA FLhE 43 55 o8| 18.4] 79.6
17 i |45 #i3E 41 41 82| 10.7{ 71.3 57 {if | EH FEE 45 45 90 9.1/ 80.9
18 fif | fex A %% 42 41 83| 11.4| 71.6 58 i | (FilE jEiE 47 49 96{ 15.1] 80.9
19 {7 | Tk K 43 46 891 17.1| 71.9 59 fir | #E FEX 48 47 95! 13.7| 8L3
:—‘iojc_?“f’p( IS AT 43 43 86| 13.7| 72.3 @ Fu g 48 52 100, 18.7| 8.3
21 i | KAMR TR 42 43 85( 12.6| 72.4 61 fif | = H HEF 50 46 96| 14.5| 81.5
22 i | /) A 42 41 83! 10.5| 72.5 62 {i | H FF 48 50 98| 16.1] 81.9
23 i [{E2 K B 41 42 83 10.4| 72.6 63 {if | &R 43 52 95| 12.4| 82,6
24 i | HEBk FIB 42 43 85| 12.2| 72.8 64 i | HEIR M 54 52 106 22.7| 83.3
mﬁﬁﬂi At =58 47 48 951 22.2]{ 72.8 6o 4| Bt 24 51 47 98| 14.6| 83.4
26 fir | £l $HE 49 16 95| 22.1| 72.9 66 i | 2 % 54 44 98! 14.0| 84.0
27 i | AlE i— 44 43 87| 13.4] 73.6 67 {iL | &EH =MW 47 55 102] 17.5| 84.5
28 {iL | M W 44 44 88| 14.4{ 73.6 68 (L | 17N PEAT 45 46 91 6.1 84.9
29 fiL (xR = 44 44 88 14.3{ 73.7 69 {i | I AT i 48 67 115; 28.5| 86.5
@D bo| hE R 2 | 43 85| 11.1] 73.9 ERn EH 54 | 52 106| 28.8| 77.2
31 fir |/ HIFE 39 46 85| 11.0] 74.0 A — 44 49 93| 10.2| 73.8
32 fi |HL 5B 42 45 871 12.5{ 74.5
33 4L /bR el 49 45 94! 19.3] 74.7
34 AL /NE EE 46 50 96, 21.1} 74.9
G| ME RS 1 | a1 91| 15.6] 75.4
36 i [ HMH HE 55 52 107| 31.4| 75.6
37 7 G 44 50 94{ 18.4| 75.6
38 fif |l B 43 44 871 11.0| 176.0
39 {7 | THE £ 45 47 92{ 15.7| 76.3
A0 (i JRESF ET 43 52 95! 18.4| 76.6
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8 0| AR EIL 41 42 83/ 13.1] 69.9 48 if | FF & EKE 39 45 84 6.6 77.4
9 kA AR 42 45 871 16.9 70.1 49 fi7 (#E0 B 44 44 88| 10.4] 77.6
A0 L fEl &R 43 40 83i 12.21 70.8 50 {if | K7E H 46 48 94| 16.1} 77.9
11 fir | A% Bl 37 40 77 6.2/ 70.8 51 i | AKT EH 44 43 87 8.5/ 78.5
12 fir | TRk SCHE 38 43 81| 10.2{ 70.8 52 {if | HHR FIE; 45 51 96| 16.3] 79.7
13 fif | K7 & 42 42 84, 13.1{ 70.9 53 {i7 | Bt —ER 44 43 87 7.0 80.0
14 i | HIW H— 38 37 75 4.0/ 71.0 54 {if | AR A= 44 49 93! 13.0; 80.0
15 frd ke =6 41 43 84{ 12.1] 719 55 | k1L EES 48 44 92| 11.1] 80.9
16 {if |[tEx A ER 39 44 83, 11.1| 719 56 fif | T4 {EF 49 47 96| 15.0] 81.0
17 {if | Li 3= 53 48 101 28.8f 72.2 57 fif | FEHIR T 40 50 90 9.0{ 81.0
18 fif | By 7% 41 44 851 1271 72,3 58 {ii | £ — 53 52 105f 22.3] 82.7
19 {f | #A Kl 41 40 81 8.6f 72.4 59 fir | #HE Kl 40 48 88 4.8] 83.2
20 fiF | e AT 45 44 89: 16.5{ 72.5 60 fir | KM % 51 48 99 12.8| 86.2
21 ff |EE #E 43 42 85, 12.01 73.0 61 fir | HHET TEFE 53 57 1100 17.4| 92.6
22 fF Bkl RiG 46 44 90! 16.8] 73.2 Bl —K 50 50 1000 20.4| 79.6
23 L [{RMA B0 49 40 89{ 15.5. 73.5
24 {ir | FAlE B4 42 43 85/ 11.5| 73.5
(25 _fir P EAL 42 40 82 7.9) T4.1
26 L HE #R 47 50 97| 22.8) 74.2
27 L [fERE B L 40 43 83 8.6 74.4
28 fiL |&H F#— 53 45 98] 23.41 7T4.6
29 fi [ {E)I #¢E] 40 49 891 14.1] 74.9
030 {i | KR B 42 43 85 9.9/ 75.1
31 i | WifE EZ 49 46 95! 19.7| 75.3
32 {f | 1RAE PEzk 44 41 85 9.7! 75.3
33 fr | BEA EX 46 43 89{ 13.5| 75.5
34 7 N EfE 44 44 88, 12.5| 75.5
235 4r | HEY SRR 45 44 89| 13.0] 76.0
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16 fir | G 7 44 16 90 19.6| 70.4 56 {if | PHEE =E 43 44 87 7.8] 79.2
17 fir | B BATF 16 47 931 22.3| 70.7 57 fir | KEE 5 50 45 95! 15.2| 79.8
18 {ir | B EfH 39 43 821 11.3] 70.7 58 {ir | LI} £ 49 47 96! 16.2| 79.8
19 fif | B &HiF A 46 45 91} 19.8] 71.2 59 {ir | R A5 46 47 93 12.7| 80.3
20 (2! Ls Br=Rp 40 41 81| 9.6] 7.4 €0 {if | AH {5 46 45 91 9.8/ 81.2
21 fir | #m HEfR 43 44 87| 15.4| 71.6 61 fir | FErh Fu 46 48 94! 12.7| 8.3
22 fii | HHPN —iE 44 42 86! 14.1] 71.9 62 fir | Tz =] 51 50 101, 19.1] 8L.9
23 fir | HEPN il 46 46 92| 19.9] 72.1 63 i | MlEk B7Z 52 49 101} 18.5] 82.5
24 {if | EEE M 49 44 931 20.6 72.4 64 {7 | F Foig 55 51 1060 22,2 83.8
(25 fie'| KR f& 45 43 88| 15.5, 72.5 65 fir) 24 fl— 53 58 111} 24.0/ 87.0
26 i | &jiE ER 45 47 92| 19.5| 72.5 T |8k A 49 46 95| 19.2, 75.8
27 4L | BIAE Bk 42 45 87! 14.5} 72.5 il FEA 42 41 83 9.6/ 73.4
28 L \TER % 39 42 81 8.5 72.5 A 43 44 87| 14.4] 72.6
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